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There are two full time directors and one manager in Shail Ltd. The manager 1s to
be paid 5% commission and each of the directors 1s to be paid 2% commission. y
The commission payable to the manager is calculated on the profit left after

charging his commission and commission of the full time directors.
From the following are the details, calculate the commissions
manager and the directors.

Income Statement for the year ending on 31 March, 2013

payable to the

Particulars Amount Amount
®) )
Net Sales 36.000
Less : Cost of Sales 12,000
(Gross Profit 24.000
Add : Other incomes
Subsidy received from government 600
Profit on sales of building (cost I 800, WDV 360
% 600)
Share Forfeited A/c 500 1,460
Total Incomes 25.460
Less : Expenses
Interest on Debentures 600
Director’s fees 800
Bonus to employee 100
Research & Development Expenses 60
Insurance Premium 150
Salary to staff 200
I.0ss on sale of Investment 1.670
Depreciation 460
Repairs and Renewals 900
Preliminary Exp. Written off 700
Bad debts reserve 450
Provision for income tax 500
Proposed dividend 700
Donation to charitable institutions 1,500 8.790
Net Profit 16,670

Other Information :

(1) Depreciation allowable as per Section 350 of the Companies Act, 1956 1s

< 160.
)
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(2) Salary to staff includes X 50 paid for the previous year and ex-gratia payment
of ¥ 50 to an employee.
(3) Bad debts of ¥ 150 was written off against Bad and doubtful reserve.

OR
(a) Trnal Balance of Dhaval Ltd as on 31-03-2013 was as under :
; Debit Credit
Account’s Name ®) @)
Purchases & Sales 5,00.000 | 15.40.000
Debtors & Creditors 90.000 60,000
Bills Receivable & Bills Payable 80,000 40,000
Stock as on 1-04-2012 50,000
Interest on debentures 30.000
Sundry Incomes 20,000
Provisions of taxation as on 1-04-2012 80.000
Advance payment of taxation
Year 2011-2012 50,000
2012-2013 1,00,000 1.50,000
Equity Share Capita 8,00,000
10% Debentures 6,00,000
Public Deposits 2,30,000
Profit & Loss Account (1-04-2012) 1,20,000
Machinery 25.90.000
34,90,000 | 34,90,000

Additional information :

(1) Closing stock was of ¥ 2,16,000, which was valued at 20% above its cost
price.

(2) One Bills receivable worth I 5,000 which was endorsed to a creditor was
dishonoured on due date, but no entry was passed for this.

(3) Income tax assessment for the last year has been completed and tax liability 1s
fixed at ¥ 90,000. Provision for taxation i1s to be made for the current year at
the rate of 50% on net profit.

(4) Provide depreciation on machinery at 20%.

(5) The Board of Directors has recommended 15% dividend on paid up Equity
share capital.

From the above information you are required to prepare final accounts of the

company for the year ended 31-03-2013 :

(b)  Write answer 1n brief any two of the following :

(1) State the appropriate head of Balance Sheet of a limited company under
which the following items are shown.
(a) Forfeited Share A/c
(b) Investment in Shares of other company
(c) Development expenditure not adjusted
(d) Provident Fund
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(2) Mention the maximum rates for remuneration payable to part time directors
by a public limited company, as prescribed in Companies Act, 1956.

(3) Company resolved to redeem 5,000 preference shares of ¥ 100 each fully paid
at 10% premium out of reserves. Give Journal Entries in the book of company.
(c) Answer in one or two lines only.
(1) Give two examples of Loan and advances.
(2) What 1s the maximum rate of interest on calls in arrears ?
(3) What is Interim dividend ?

3

The following are the Balance Sheets of H Ltd. and S Ltd as on 31 December 2012. 14

.y eqess H Ltd. S Ltd. H Ltd. S Ltd.
Liabilities ) ) Assets @) @)
Share Capital, Goodwill 40,000 | + 30,000
share of ¥ 100 each 5,00,000 | 2,00,000 | Land & Building 2.00.,000 | 1,30,000
General Reserve as on Plant & Machinery | 1,60,000 | 90,000
1-1-2012 1,00,000 | 60,000 | Stock 1,00,000 | 90,000
Profit & Loss A/c 1,40.000 | 90,000 | Debtors 20,000 [ 75,000
Bills Payable - 40,000 | Investments :
Creditors 80,000 | 50,000 | 1,500 shares in -
S. Ltd. at cost 2,40,000
Cash & bank 60,000 | 25,000
8,20,000 | 4,40,000 8,20,000 | 4,40,000

The Profit & Loss Account of S. Ltd. showed credit balance of I 50,000 on 1 January,
2012, from which dividend at 15% was paid in October, 2012 for the year 2011. This
dividend was credited to Profit & Loss Account by H Ltd. H Ltd. acquired the shares of
S Ltd. on 1 July, 2012. The bills payable of S Ltd. were all 1ssued in favour of H Ltd.
which got the bills discounted.

Included in the creditors of S Ltd. 1s ¥ 20,000 for goods supplied by H. Ltd. Included in
the stock of S Ltd. are goods to the value of I 8,000 which were supplied by H Ltd. at a
profit of 1/3" on costprice.

In arriving at the value of S Ltd. shares, the plant and machinery which then stood in the
books at I 1,00,000 was revalued at ¥ 1,50,000. The new value was not incorporated in
the books. No changes 1n these assets have been made since the date.

Prepare the Consolidated Balance Sheet from the above information as on 31 December,
2012,

OR

(a) . Navya Co. Ltd. had acquired on 1-1-2010, 6,000 equity shares at a price of ¥ 13 per
share and 500, 10% preference share at par value in Krishna Co. Ltd.
On 1-1-2011 Navya Ltd. purchased from the market another 1,000 equity shares of
Krishna Ltd. at a price of X 15 per share and sold 800 equity shares on 1-1-2012 at
a price of ¥ 14 per share.
Krishna Ltd.’s paid up share capital as on 1-1-2010 consisted of 10,000 equity
shares of ¥ 10 each fully paid up and 2,000, 10% preference shares of ¥ 100 each
fully paid up. Afterwards, in 2012 Krishna Ltd. issued Bonus shares on 1-07-2012
at one bonus share for every two equity shares held. Right to future dividends, to be
declared on this bonus share 1s allowed for the proportionate period only.

7
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Krishna Ltd’s net profit for the year 2010, 2011 and 2012 were ¥ 40,000, I 45,000
and ¥ 51,000 respectively. Equity dividend rates were 10%, 12% and 15%
respectively.

Accounting year of Navya Ltd. ends on 31 March and that of Krishna Ltd. on

31 December.

Calculate the profit of Krishna Ltd. dealt with and not dealt with to be included in

the statement as required under section 212 of Companies Act, 1956 to be attached

by Navya Co. Ltd. to its annual accounts for the year ending on 31 March; 2013.

(b) Write answer 1n brief any two of the following : 4

(1) On 1-1-2012 Heali Ltd. acquired 1,500 equity shares of I 100 each out of
2,000 shares i Dhruti Ltd. as a cost of ¥ 1,70,000. Dhrut1 Ltd., earned a
profit of I 40,000 in 2012 and on 15-03-2013 it paid a dividend at 15% for
the year 2012. Give Journal Entries in the books of Heali Litd. to record the
above transactions.

(2) What 1s minority interest 7 Where will you show 1t in the consolidated
Balance Sheet.

(3) Give the list of copies of first four documents ‘of Subsidiary Company which
holding company has to attach to its annual accounts as per Section 212 of
Companies Act, 1956.

(c) Answer in one or two lines only : 3

(1) How will you deal with unrealized profit included in stock while preparing
consolidated Balance Sheet ?

(2) What should be the maximum gap between the closing dates of financial year
of holding company and Subsidiary company ?

(3) What do you mean by “Profit Dealt with” with reference to Section 212 of
Companies Act, 1956 ?

3. The following Balance Sheets of Akash Ltd. and Kavan Ltd. are as on 31 March, 2013 : 14
r . Akash Kavan
Ltd. () Ltd. ()
Fixed Assets 10,00,000 50,000
Sundry Debtors 2.90,000 1,50,000
Stock 4.80.000 2.10,000
Investments :
1,000 shares in Kavan Ltd. 1,50.000 —
3.000 shares 1n Akash Ltd. — 5.00,000
Cash & bank 1,40,000 90,000
20,60,000 | 10,00,000
Liabilities
Share capital :
Fully paid up equity shares of ¥ 100 each 15,00,000 5,00,000
General Reserve 2.00,000 1,00,000
Profit & Loss Account 1,60,000 10,000
12% Debentures - 3.00,000
Current Liabilities 2.00,000 90,000
20,60,000 | 10,00,000
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Kavan Itd. traded in raw material which were required by Akash Ltd, for
manufactures for its products, stock of Akash Limited includes I 1,00,000 for
purchases made from Kavan Limited which company made a profit of 20% on
selling price.
Akash Limited owed ¥ 40,000 to Kavn Limited in this respect.
It was decided that Akash Limited should absorb Kavan Limited on the basis of the
intrinsic value of the shares of two companies.
Akash Limited also decided to revalue the shares in Kavan Ltd. before recerding
entries relating to the absorption.
Show the Journal Entries with Akash Ltd. must pass to record the acquisition and
prepare its Balance Sheet immediately thereafter. All workings should form part of
your answer.

OR
The following are the Balance Sheets of Anal Ltd. and Man Ltd. as on 31 March,

2013 :
eyl Anal Man Anal Man
Liabrlities | 9. @ | Ltd. @ Assely Lid. (3 | Ltd. })

Share capital of Sundry Assets | 75,00,000 | 35,00,000
% 100 each 50,00,000 | 30,00,000 | Investments (in

Reserves 10,00,000 | 5,50,000.20% shares of

Creditors 15,00,000 | 9,50,000 | Anal Ltd.) = 10,00,000

75,00,000 | 45,00,000 75,00,000 | 45,00,000

Anal Ltd. was to absorb Man Ltd. on the basis of intrinsic value of the shares, the
consideration was to be discharged in the form of fully paid shares. Entries to be
made at par value only.

Calculate the purchase consideration and the number of shares of Anal Ltd. to be

1issued to meet the consideration. Entries are not required.

Write answer 1n briet any two of the following : (in reference to Amalgamation) :

(1) 12% Debenture Holder’s of Vendor Company Ltd will be paid at 8%
premium by 13% debentures in Purchasing company limited issued at 10%
discount. Book value of debenture in Vendor Company 1s I 1,00,000. Find
out the face value of debentures to be 1ssued by Purchasing Company Ltd.

(2)° What are the conditions of Merger According to AS-14 ?

(3) Clearly differentiate between the meaning of Net Assets under purchase
method and merger method of Amalgamation as per AS-14.

Answer i one or two lines only : (in reference to Amalgamation)

(1) Give the entry in the books of purchase company when Vendor company
makes payment of its own liquidation expenses.

(2) The Equity shares capital of Vendor company 1s I 1,00,000 and the purchase
consideration 1s ¥ 95,000. How would you adjust this information in merger
method 1n the books of Purchasing company ?

(3) Purchasing Company Heena Limited has purchased goods of I 66,000 from
Vendor Company Disha Limited. Disha Ltd. sales goods at 10% profit on
cost. On the date of take over 50% goods are unsold lying with Heena Ltd.
What is the amount of unrealized profit ?

7

13 P.T.O.



4. (a) A trader sells radios on hire-purchase system and the accountant furnishes the

following information for the year 2012 : 7
2012 4
Jan 1 Hire purchases stock (at H.P. value) 91,400
Stock at shop (at cost price) 12,000
Installments due but not received 7,000
(Customer still paying)
Dec. 31  Stock with H.P. (at H.P. value) 1,04,000
Stock at shop (at cost price) 18,000
Installments due but not received 10,400
Goods repossessed (installments due T 2,000 500
Goods purchased during the year 1.56.000
Cash received from customers 1,82.000
Goods are sold on Hire Purchase so as to make a profit of 1/3" on cost price. Find
out profit of Hire Purchase business by “Stock and Debtors® method. Prepare only
hire purchase debtors Account, Hire Purchase Stock Account, Shop Stock Account,
Hire purchase adjustment account.
OR
Parth Limited commenced business on 1-04-2012 and gives you the following
information for the year ended 31 March, 2013. 7
(1) Total purchases and general sales for the year respectively amounted to
X 9.,00,000 and X 8,50,000. General stock on 31-03-2013 amounted to
< 1,50,000.
(2) Two items were sold on hire purchase terms of which the details are given
below :
Down No. of further Total
Commodity Cost payment | installments per | installments
per unit unit falling due*
Item 1 300 umits x X 150 < 30 6 of ¥ 30 500
[tem 2 200 units x I 400 < 80 8 of T 80 300
*excluding down payment
Installments due 1n 2012-2013 were all received. Prepare Hire Purchase
Trading Account and General Trading Account for the year ended 31 March,
2013.

(b) Write answer 1in brief any two of the following : 1
(1) From the following details find out Hire Purchase stock at the end of the year.
Cost price of the Radio < 700
Cash price of the Radio < 900
Down payment per Radio < 200
Monthly Installment < 80

Number of installments per Radio 10

TC-128
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Radios sold during the year 70
No. of installments collected (including on goods repossessed) 450
Installment due (customer paying) 40

Six radios on which only five installments were collected were repossessed.

(2) Give details of any two points / variables to be included in the agreement
under Hire Purchase System.

(3) From the following details prepare a Shop Stock A/c and find the amount of
purchases

Goods are sold at profit of 25% on Cost price

Opening stock at the shop I 20,000

Goods sold on Hire Purchase (Hire purchase price) ¥ 1,20,000
Closing Stock at the shop I 50,000.

(¢) Answer in one or two lines only : 3
(1) Give Journal Entry when goods sold under Hire Purchases are repossessed.
(2) Which account 1s prepared to find out Profit/loss under hire purchased
adjustment account method (Stock & Drs. Method)
(3) Who is legal owner of the asset under Installment method ?
5.  Select the most appropriate answer from the alternatives given : 14
(1) On an equity share of ¥ 20, the minimum application money per share should be
(a) <1 (b) X2
(c) T4 (d) None of the above
(2) Total profit on sale of machinery is ¥ 60,000, cost of plant and machinery sold was
< 2,00,000 while 1ts sales price was < 2,20,000. What 1s capital profit on sale ?
(a) 40,000 (b) 20,000
(c) 60,000 (d) None of the above
(3) Cash price of Asset + Interest = price
(a) Contract (b) Market
(¢) Purchase (d) None of the above
(4) Which of the following statement 1s correct with respect to hire purchase ?
(a) = Depreciation 1s calculated on the cash price of the assets purchased
(b)  Depreciation 1s calculated on the contract price of the assets purchased.
(¢) Depreciation 1s calculated on the market price of the assets purchased.
(d) None of the above
(5) A private company must be requisite with a minimum share capital of
(a) < 1lac (b) %5 lacs
(¢c) 10 lacs (d) None of the above
(6) The rules for payment of interest on calls in advance or on calls in arrears are
provided In of the Companies Act.
(a) Table A (b) Table B
(¢) Scheduled VI (d) None of the above
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(14)
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Which of the following statements 1s correct with reference to Amalgamation ?
(a) Goodwill = Net Assets — Purchase Consideration

(b) Goodwill 1s a set off against security premium

(c) Capital reserve = Net Assets — Purchase consideration

(d) None of the above

State the Accounting Standard applicable for accounting of Amalgamation

(a) AS-13 (b) AS-15

(c) AS-41 (d) None of the above

Under merger which of the following statements 1s correct ?

(a) In purchase consideration anything can be given to Equity share holders of
Vendor company.

(b) Normally at the time of take over assets and liabilities are revalued.

(c) Only Preference shares can be given to Preference Share holders of Vendor
Company.

(d) None of the above

State the Accounting Standard applicable for consolidation of financial statements

(a) AS-21 (b) AS-14

(¢c) AS-03 (d) None of the above

Which of the following statements 1s not required to be attached to annual report of
Holding Company under Sec-212 ?

(a) A copy of the Profit & Loss A/c of subsidiary company

(b) A copy of the report of 1ts Board of Directors of Subsidiary Company
(¢) A copy of the Funds flow statements of Subsidiary company

(d) None of the above

Section 212 of Companies Act, 1956 deals with

(a) Preparation of annual accounts of Holding company

(b) Preparation of annual accounts of subsidiary company

(¢c) Presentation of details by Holding company relating to its subsidiaries.
(d) None of the above

When goods sold on Hire purchase are repossessed, how much amount 1s debited
to Goods Repossessed Account ?

(a) Amount received from the customer
(b) = Amount due but not received from the customer
(c) Amount not received on the goods sold

(d) None of the above

From the following details find out the amount of reserve on closing hire purchase
stock.

Cash price = Cost price + 20%
Hire purchase price = Cash price + 25%
Closing hire purchase stock (at hire purchase price) = 3,00,000

(a) 50,000 (b) % 60,000
(c) < 1,00,000 (d) None of the above
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